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(2) ^maVmMm ŷJmoc (‘hmamḯ>mÀ¶m ŷJmocmÀ¶m Aä¶mgmgh)
6) nO©Ý¶‘mZ - ‘hmnya, XþîH$mi, qgMZ ì¶dñWm
7) ZÚm - YaUo Am{U àH$ën
8) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
9) dZo Am{U dZñnVr, n[apñW{VH$s, n`m©daU

6) nO©Ý¶‘mZ - ‘hmnya, XþîH$mi, qgMZ ì¶dñWm
1) Z°eZb aoZ’o$S> E[a`m Am°°Wm°[aQ>rZwgma, ^maVmV EH$XmM XwîH$mi nS>Ê`mMr dma§dm[aVm ......

1) 1-5 df} 2) 1-10 df} 3) 2-5 df} 4) 10 df}
1) As per the National Rainfed Area Authority, the frequency of occurance of drought once in India

is ............

1) 1-5Years 2) 1-10 Years 3) 2-5 Years 4) > 10years

2) ‘hmamï´>mVrb dm{f©H$ nO©Ý¶ d àmXo{eH$ {d^mJ ¶m§À¶m‘Ü¶o ¶mo½¶ OmoS>çm bmdm.
¶mXr-I (àmXo{eH$ {d^mJ) ¶mXr-II (dm{f©H$ nO©Ý¶ (go.‘r.))
A) H$moH$U I) 77
~) ‘Ü¶ ‘hmamï´> II) 100
H$) ‘amR>dmS>m III) 92
S>) {dX ©̂ IV) 287
n¶m©¶r CÎmao …

A ~ H$ S>
1) i ii iii iv

2) iv iii i ii

3) iv iii ii i

4) iii iv ii i

2) Match the annual rainfall and regional division of Maharashtra.

List - I (Regional Division) List - II (Annual Rainfall (c.m.))

a) Kokan i) 77

b) Madhya Maharashtra ii) 100

c) Marathwada iii) 92

d) Vidarbha iv) 287

Answer Options :

a b c d

1) i ii iii iv

2) iv iii i ii

3) iv iii ii i

4) iii iv ii i
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3) ŷ‘Ü¶ gm‘w{ÐH$ àXoemV {hdmù¶mV nmD$g nS>Ê¶mMo H$maU ..........
1) dm¶ŵ ma nQ²>Q>çm§Mo Am§XmocZ
2) dm¶ŵ ma nQ²>Q>çm§À¶m Am§XmocZm‘wio {hdmù¶mV ŷ‘Ü¶ g‘wÐmÀ¶m àXoemV H$‘r dm¶ŵ ma àXoe {Z‘m©U hmoVmo.
3) ŷ‘Ü¶ g‘wÐmH$Sy>Z ŷ̂ mJmH$S>o dmao dmhVmV
4) Amëßg nd©VmÀ¶m dmV gÝ‘wI CVmamda à{VamoY nO©Ý¶ nS>Vmo.

3) Winter rainfall received by the Mediterranean region is the result of

1) Shifting of pressure belts

2) Low pressure belt occurs over the Mediterranean region during the winter season due to shifting

of pressure belts

3) Winds blow from the Mediterranean sea towards land

4) Orographic rain developed on the windward slope of the Alps

4) ''‘mÝgyZMr ‘mKma'' hm ^maVr¶ hdm‘mZmMm Am{dîH$ma Imcrcn¡H$s H$moUË¶m dmVmdaUr¶ n[apñWVrMm n[aUm‘ Amho?
1) Z¡F©$Ë¶ ‘mÝgyZ dmao {h‘mc¶ nd©Vam§Jm§n¶ªV nmohmoMë¶mZ§Va Vo VoWyZ ‘mKmar {’$aVmV.
2) gy¶m©Mo ^mg‘mZ «̂‘U
3) ^maVmÀ¶m dm¶ì¶ ^mJmH$Sy>Z Am½Zo¶ ^mJmH$S>o Cƒ dm¶ŵ ma nQ²>Q>çmMm hmoUmam {dñVma
4) ^maVr¶ CnI§S>mV {Z‘m©U hmoUmar dm¶ŵ mamVrc {^ÞVm.

4) The climatic phenomena retreating monsoon is the result of which of the following atmospheric

condition in India ?

1) After reaching to the Himalayan ranges the south-west monsoons retreats

2) The apparent movement of the Sun

3) The expansion of the high pressure belt from north-western part to south-eastern part of India

4) The occurrence of variability in the atmospheric pressure developed over the Indian sub-

continent

5) {ZarjUmÀ`m H$mbmdYrV j¡{VO n¥ð>^mJmdarb nmÊ`mMr Imobr åhUyZ ì`º$ Ho$boë`m {d{eï> {R>H$mUr hmoUmam dfm©d åhUyZ
AmoiIbo OmVo:
1) nO©Ý` CËnÞ 2) nO©Ý` Xa
3) ~mînr^dZ Xa 4) joÌr` nO©Ý`

5) The precipitation at a specific location expressed as as water depth over a horizontal surface

during a period of observation is known as :

1) Precipitation Yield 2) Precipitation Rate

3) Evaporation Rate 4) Areal Precipitation

6) amï´>r` H¥$fr Am`moJ (1976) Zwgma, Imbrbn¡H$s H$moUVm XwîH$mi `m loUrV òV Zmhr?
1) YmÝ`mMm XwîH$mi 2) hdm‘mZ{df`H$ XwîH$mi
3) Ob{dkmZ XwîH$mi 4) H¥$fr XwîH$mi

6) According to National Commission on Agriculture (1976), which of the following does not come

in the category of drought ?

1) Grain Drought 2) Meterological Drought

3) Hydrological Drought 4) Agricultural Drought
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n¶m©¶r CÎmao …

7) ¶m àXoem§Zm XwîH$mir àXoe åhUyZ AmoiIVmV H$maU ......
a) hm àXoe gømÐr nd©VÀ¶m nyd}g dgbobm Amho.
b) ¶oWo dm{f©H$ 100 Vo 200 go‘r nm‘D$g nS>Vmo
c) ‘amR>dmS>m d ImZXoe ¶m§Mm OmñVrV OmñV àXoem§Mm ¶mV g‘mdoe hmoVmo
d) hm ^mJ Z¡F$Ë¶ ‘mog‘r dmè¶m§À¶m nO©Ý¶ N>m¶oÀ¶m àXoemV ¶oVmo
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a), (c) Am{U (d) 3) (c) Am{U (d) 4) darb gd©

7) This region is known as drought region because ......

a) This region is situated to the east of the Sahyadri Mountains.

b) 100 to 200 cm of palm tree falls here annually

c) It includes maximum regions of Marathwada and Khandesh

d) This region falls in the rain shadow region of southwest monsoon winds

Answer options :

1) (a) and (b) 2) (a), (c) and (d) 3) (c) and (d) 4) All of the above

8) Á`m ^mJmV dm{f©H$ nO©Ý`‘mZ 600-850 {‘.‘r.À`m loUrV Amho, VoWo {e’$mag Am{U noaUr Ho$br OmV Amho.
1) Xw~ma nrH$ 2) Am§VanrH$ 3) {Vhoar nrH$ 4) nrH$ AmdV©Z

8) In areas where the annual rainfall is in the range of 600-850 mm, is being recommended and

practiced.

1) double cropping 2) intercropping 3) triple cropping 4) crop rotation

9) grnr-B§S>oŠg darb aZAm°’$ ìhm°ë ỳ‘ ghgm ................ åhUyZ AmoiIbm OmVmo.
1) A{Vd¥ï>r 2) A{Vd¥ï>r 3) KwgImoar 4) Iar Ymdni

9) The runoff volume above cp-Index is usually known as  ................

1) Afflux 2) Rainfall Excess 3) Infiltration 4) True Runoff

10) H$moUVo T>J ‘Ü`‘ Am{U Cƒ Ajm§em§‘Ü ò Mm§Jbm nmD$g XoVmV?
1) AëQ>mo - ñQ°́Q>g 2) AëQ>mo - Š¶wå ẁbg 3) qZ~mo - ñQ°́Q>g 4) ñQ°́Q>mo - ³¶wå ẁbg

10) Which clouds give good amount of rainfall in the middle and high latitudes ?

1) Alto - Stratus 2) Alto - Cumulus 3) Nimbo - Stratus 4) Strato - Cumulus

11) nO©Ý`‘mZ hm`Q>moJ«m’$ doioMo {dVaU XoVo
1) nmdgmMo à‘mU 2) nmdgmMr Imobr 3) nmdgmMr Vrd«Vm 4) nmdgmMr dma§dmaVm

11) The rainfall hyetograph gives time distribution of

1) Rainfall volume 2) Rainfall depth 3) Rainfall intensity 4) Rainfall frequency

12) hm`Q>moJ«m’$ hm ................ Mm ßbm°Q> Amho.
1) nmÊ`mÀ`m {dê$Õ doi 2) hdoÀ`m {déÕ doi
3) doioÀ`m ‘Ü`m§VamÀ`m VwbZoV nmdgmMr Vrd«Vm 4) doioÀ`m {dê$Õ nya

12) A Hyetograph is a plot of  ................

1) time against water 2) time against air

3) the intensity of rainfall against the time interval 4) flood against time
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13) ẁ{ZQ> hm`S´moJ«m’$ {gÕm§VmMr ‘yb ŷV J¥hrVHo$ ................ AmhoV.
1) Zm°Z-bmBZa [añnm°Ýg Am{U Q>mB‘ BÝìho[aAÝg 2) Q>mB©‘ BÝìho[a §̀g Am{U aoIr` [añnm°Ýg
3) aoIr` à{VgmX Am{U aoIr` doi {^ÞVm 4) Zm°Z-{b{Z`a Q>mB‘ {^ÞVm Am{U aoIr` à{VgmX

13) The basic assumptions of the unit hydrograph theory are  ................

1) non-linear response and time invariance 2) time invariance and linear response

3) linear response and linear time variance 4) non-linear time variance and linear response

14) hm`S´moJ«m’$Mm AmH$ma Ûmao à^m{dV Amho
a) nmdgmMo EH$g‘mZ hdmB© {dVaU b) ~XbË`m nmdgmMr Vrd«Vm
c) ~o{gZMm AmH$ma d) dmXimÀ`m hmbMmbrMr {Xem
n¶m©¶r CÎmao …
1) a, b Am{U d 2) a Am{U b ’$º$ 3) a, b Am{U c 4) a, b, c Am{U d

14) The shape of Hydrograph is effected by

a) Non uniform aerial distribution of rainfall b) Varying rainfall intensity

c) Shape of the basin d) Direction of storm movement

Answer options :

1) a, b and d 2) a and b only 3) a,b and c 4) a, b, c and d

7) ZÚm, gamodao YaUo, ObqgMZ Am{U àH$ën
1) J§Jm H¥$Vr `moOZm H$Yr gwê$ Pmbr?

1) 2001 2) 1986 3) 1982 4) 2005
1) When the Ganga Action Plan was started?

1) 2001 2) 1986 3) 1982 4) 2005

2) OmoS>r Owidm :
a) O`H$a g{‘Vr i)  1934
b)  IRC {Z{‘©Vr ii) 1952
c)  CRRI ñWmnZm iii)  1956
d) NHH$m`Xm iv) 1927
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (ii) (iv) (i) (iii)

3) (ii) (i) (iii) (iv)

4) (iv) (i) (ii) (iii)



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ŷJmob / 28
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2) Match the pair :

a) Jayakar Committee i) 1934

b) IRC formation ii) 1952

c) CRRI Establishment iii) 1956

d) NH Act iv) 1927

Answer options:

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (ii) (iv) (i) (iii)

3) (ii) (i) (iii) (iv)

4) (iv) (i) (ii) (iii)

3) JmoXmdar ZXrZo ‘hmamï´>mÀ¶m EHy$U ^m¡Jmo{bH$ joÌmn¡H$s ...... joÌ ì¶mnbo Amho.
1) 25% 2) 80% 3) 49% 4) 60%

3) Godavari river covers area out of total geographical area ofMaharashtra.

1) 25% 2) 80% 3) 49% 4) 60%

4) ^maVmVrb nmUrnwadR>çmÀ`m ‘yb ŷV JaOm§gmR>r dmnaë`m OmUmè¶m  ^maVr` ‘mZH$ g§{hVoMo Zmd gm§Jm.
1)  IS :  12183 2)  IS :  1343 3)  IS :  456 4)  IS :  1172

4) Name the Indian Standard Code used for basic requirements of water supply in India.

1) IS : 12183 2) IS : 1343 3) IS : 456 4) IS : 1172

5) ‘m`H«$mo-dm°Q>a-eoS> ho ‘moO‘mnmMo EH$ EH$H$ Amho Á`m‘Ü ò .......... joÌ’$i Agboë`m gd© O{‘ZrMm g‘mdoe hmoVmo
Am{U [aO aofoZo doT>boë`m gm‘mÝ` q~Xy qH$dm AmCQ>boQ>n ª̀V EHy$U Ymdni hmoÊ`mg hmV^ma bmdVmo.
1) 1-100 hoŠQ>a 2) 100-1000 hoŠQ>a
3) 1000-10,000 hoŠQ>a 4) 50,000 hoŠQ>a

5) The micro-water-shed is a unit of measurement that encompasses all land that has an area of

......... and contributes to total run-off to a common point or outlet surrounded by a ridge line.

1) 1-100 Hect 2) 100-1000 Hect

3) 1000-10,000 Hect 4) 50,000 Hect

6) ^maVmV ŷObmMo {H$Vr àm§V AmhoV? ‘hmamï´> amÁ` H$moUË`m àm§VmV òVo?
1) 8 àm§V, S>o̧ $Z Q°́n àm§V
2) 6 àm§V, àrH°$på~«̀ Z ñ’${Q>H$mgmaIo àm§V
3) 5 àm§V, Jm|S>dmZm JmimMm àm§V
4) 7 àm§V, H±{~«̀ Z JmimMo àm§V

6) How many groundwater provinces are demarcated in India ? Maharashtra state comes under which

province ?

1) 8 provinces, Deccan trap province

2) 6 provinces, Precambrian crystalline provinces

3) 5 provinces, Gondwana sedimentary provinces

4) 7 provinces, Cambrian sedimentary provinces
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7) Imbrbn¡H$s `mo½` {dYmZ emoYm :
1) ‘hmamï´>mV gw‘mao 22,250 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 50% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdí`H$ Amho.
2) ‘hmamï´>mV gw‘mao 85,450 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 70% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdí`H$ Amho.
3) ‘hmamï´>mV gw‘mao 65,450 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 75% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdí`H$ Amho.
4) ‘hmamï´>mV gw‘mao 44,185 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 67% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdí`H$ Amho.
7) Trace out the correct statement from the following :

1) There are in all around 22,250 micro watersheds in Maharashtra. According to estimate around

50% of the geographical areas requires watershed treatment.

2) There are in all around 85,450 micro watersheds in Maharashtra. According to estimates around

70% of the geographical area requires watershed treatment.

3) There are in all around 65,450 micro watersheds in Maharashtra. According to estimates around

75% of the geographical area requires watershed treatment.

4) There are in all around 44,185 micro watersheds in Maharashtra. According to estimate around

67% of the geographical area requires watershed treatment.

8) ẁ{ZQ> hm`S´moJ«m’$ {gÕm§V H$moUr gm§{JVbm?
1) bo-am°̀  Ho$. eo‘}Z 2) am°~Q>© B©. hm°Q>}Z
3) ‘o[ab ~Zm©S>© 4) S>opìhS> Ho$. Q>m°S>

8) The unit hydrograph theory was enunicated by whom ?

1) Le-Roy K. Shermen 2) Robert E. Horten

3) Merril Bernard 4) David K. Todd

9) ^maVmVrb H$moUË`m n{hë`m amÁ`mZo ŷOb ì`dñWmnZ Am{U aoZdm°Q>a hmd}pñQ>§J ñQ´ŠMg© A{Zdm ©̀ Ho$bo AmhoV?
1) ‘hmamï´> 2) Vob§JUm 3) Vm{‘iZmSy> 4) JwOamV

9) Which Indian first state has made ground water management and rainwater harvesting structures

mandatory ?

1) Maharashtra 2) Telangana 3) Tamil Nadu 4) Gujarat

10) ^maVmÀ¶m CÎmaoH$Sy>Z X{jUoH$S>o OmVmZm ñWmZmZwgma gamodam§Mm ¶mo½¶ H«$‘ cmdm.
1) dwca, gm§^a, cmoUma, doå~ZmS> 2) gm§^a, dwca, doå~ZmS>
3) doå~ZmS>, cmoUma, gm§^a, dwca 4) cmoUma, doå~ZmS>, dwca, gm§^a

10) Arrange the lakes of India in the correct order by location while moving from north to south.

1) Wular, Sambhar, Lonar, Vembanad 2) Sambhar, Wular, Vembanad

3) Vembanad, Lonar, Sambhar, Wular 4) Lonar, Vembanad, Wular, Sambhar

11) ^maVmVrb ZXrdarb Y~Yã¶m§Mr C§MrZwgma H$moUVm MT>Vm H«$‘ ¶mo½¶  Amho?
1) doÊUm - YwdmYma - JmoH$mH$ - OmoJ 2) YwdmYma - doÊUm - JmoH$mH$ - OmoJ
3) OmoJ - doÊUm - YwdmYma - JmoH$mH$ 4) YwdmYma - JmoH$mH$ - doÊUm - OmoJ

11) Which ascending order is correct as per the height of waterfalls on rivers in India ?

1) Venna — Dhuvadhar — Gokak — Jog 2) Dhuvadhar —Venna — Gokak — Jog

3) Jog — Venna — Dhuvadhar — Gokak 4) Dhuvadhar — Gokak —Venna — Jog
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12) '‘§Yma Am{U XS>u' ho à{gÕ Y~Y~o H$moUË¶m XmoZ ZÚm§À¶m g§J‘mda AmT>iVmV?
1) N>moQ>r - Vdm 2) nyUm© - {JaUm
3) ^r‘m - B§Ðm¶Ur 4) ‘§S>mdr - {VamH$mob

12) ‘Mandhar and Dard’, these famous waterfalls occur in confluence of which two rivers ?

1) Choti— Tawa 2) Purna-Girna

3) Bheema — Indrayani 4) Mandavi — Tirakol

13) ‘hmamï´>mVrb npíM‘oH$S>o IMXarVyZ dmhUmar gdm©V ‘moR>r ZXr H$moUVr?
1) Vmnr 2) Z‘©Xm 3) Cëhmg 4) emór

13) Which is the largest west-flowing Rift System river of Maharashtra ?

1) Tapi 2) Narmada 3) Ulhas 4) Shastri

14) Imbrbn¡H$s H$moUVr ZXr/ZÚm ‘hmamï´>mÀ¶m H$moH$U ‘¡XmZr àXoemVyZ dmhV Zmhr?
A) d¡VaUm ~) ‘mhr H$) Cëhmg S>) A§~m
n¶m©¶r CÎmao …
1) ’$º$ A ~amo~a Amho 2) ’$º$ ~ ~amo~a Amho
3) ’$º$ A Am{U ~ ~amo~a AmhoV 4) ’$º$ H$ Am{U S> ~amo~a AmhoV

14) Which of the following river/rivers does not flow through the Konkan plain of Maharashtra ?

A) Vaitarna B) Mahi C) Ulhas D) Amba

Answer options :

1) Only A is correct 2) Only B is correct

3) Only A and B are correct 4) Only C and D are correct

15) Imbrbn¡H$s H$moUVr nd©Vam§J Z‘©Xm d Vmnr Imoao ¶m‘Yrb Ob{d^mOH$ Amho?
1) Aadbr 2) qdÜ¶ 3) gømÐr 4) gmVnwS>m

15) Which mountain range is the water divider between the Narmada and Tapi Valleys ?

1) Aravali 2) Vindhya 3) Sahyadri 4) Satpuda

16) Imcrcn¡H$s H$moUVo/H$moUVr {dYmZ/Zo ~amo~a AmhoV ?
‘hmamï´>mV CÎmaoH$Sy>Z H«$‘mZo nR>mamdarc à‘wI S>m|Jaam§Jm d Ë¶m§À¶m X{jUoH$S>rc ZÚm§Mr Imoar Imcrcà‘mUo AmhoV :
A) gmVnwS>m nd©V am§JoÀ¶m X{jUoH$S>o Vmnr-nyUm© Imoao.
~) gmV‘mim AqOR>m S>m|JamÀ¶m X{jUog JmoXmdar ZXrMo Imoao.
H$) h[aíM§Ð ~mcmKmQ> S>m|Ja d Ë¶mÀ¶m X{jUog ^r‘m ZXrMo Imoao.
S>) e§̂ y ‘hmXodmMo S>m|Ja d Ë¶m§À¶m X{jUog H¥$îUm ZXrMo Imoao
n¶m©¶r CÎmao …
1) ’$º$ A 2) darc gd© ~amo~a 3)  ’$º$ A d ~ 4) ’$º$ A d H$

16) Which of the following is/are correct statements ?

In Maharashtra, in order from north, the major hill ranges on the plateau and the river basins to

their south are as follows :

a) Tapi Purna basin to the south of the Satpura mountain range.

b) Godavari river valley to the south of Satmala Ajintha hills.

c) Harishchandra Balaghat hill and Bhima river basin to its south.

d) Shambhu Mahadeva hills and Krishna river basin to its south.

Answer Options :

1) Only a 2) All are correct 3) Only a and b 4) Only a and c
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17) ‘hmamï´>mVrc à‘wI ZÚm d Ë¶m§À¶m CnZÚm ¶m§À¶m ¶mo½¶ OmoS>çm cmdm.
    ZXr CnZXr
A) Vmnr I) H$èhmZ
~) d¡ZJ§Jm II) H$ma§Om
H$) ‘m§Oam III) ~moar
S>) qgY’$Um IV) q~Xþgam
n¶m©¶r CÎmao :

A ~ H$ S>
1) II III IV I

2) III I IV II

3) IV III II I

4) III I II IV

17) Match the major rivers of Maharashtra with their tributaries.

River Tributary

A. Tapi I) Karhan

B. Vainganga II) Karanja

C. Manjara III) Bori

D. Sindhfana IV) Bindusara

Answer Options :

A B C D

1) II III IV I

2) III I IV II

3) IV III II I

4) III I II IV

18) Imcrcn¡H$s H$moUË¶m XmoZ ZÚm§Mm g§J‘ H$moH$UmVrc ‘hmS> ¶oWo hmoVmo ?
1) gmoZdr-gm{dÌr 2) gm{dÌr-OJ~wS>r 3) gm{dÌr-Jm§Yma 4) ~md-gm{dÌr

18) Which of the following two rivers confluence at Mahad in Konkan?

1) Sonvi-Savitri 2) Savitri-Jagbudi 3) Savitri-Gandhara 4) Bav-Savitri

19) ‘hmamï´>mVrc Vmnr d nyUm© ZÚm§Mm g§J‘ Imcrcn¡H$s H$moUË¶m {R>H$mUr hmoVmo ?
1) H$èhmS> 2) am§OUJmd 3) lrjoÌ Mm§JXod 4) lrjoÌ dTy> ~w &&

19) Tapi and Purna rivers in Maharashtra meet at which of the following places?

1) Karhad 2) Ranjangaon

3) Srikshetra Changdev 4) Srikshetra Vadhu Budruk

20) ‘hmamï´>mVrb ‘w»¶ ZXr d {VMr CnZXr ¶m§À¶m ¶mo½¶ OmoS>çm bmdm …
ZXr CnZXr
a) ^r‘m i) XþYZm
b) H¥$îUm ii) ~moar
c) JmoXmdar iii) H$èhm
d) Vmnr iv) ^r‘m
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (iv) (ii) (iii) (i)

3) (iii) (iv) (i) (ii)

4) (ii) (iii) (iv) (i)

20) Match the correct pairs of main river and her tributaries in Maharashtra :

    River Tributeries

a) Bheema i) Dudhana

b) Krishna ii) Beri

c) Godavari iii) Karha

d) Tapi iv) Bheema

Answer options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (iv) (ii) (iii) (i)

3) (iii) (iv) (i) (ii)

4) (ii) (iii) (iv) (i)

21) ‘hmamï´>mVrb ImS>çm§À¶m g§X^m©V Imbrb {dYmZm§da {dMma H$am.
A) nmVmiJ§Jm ZXrda Ya‘Va ImS>r Amho.
~) ewH$ ZXrda ~mUH$moQ> ImS>r Amho.
n¶m©¶r CÎmao …
1) A ~amo~a ~ MyH$ 2) A MyH$ ~ ~amo~a 3) XmoÝhrhr ~amo~a 4) XmoÝhrhr MyH$

21) Consider the following statements regarding the creeks in Maharashtra.

a) There is Dharamtar creek on the river Patalganga.

b) Bankot creek is located on the river Shuk.

Answer Options :

1) a correct b wrong 2) a wrong b correct 3) Both are correct 4) Both are wrong

22) ¶mo½¶ Om§oS>çm Owidm
ñV§̂  I (ZXr) ñV§̂  II (Ocme¶)
a) ^r‘m i) ehmOr gmJa
b) Hw$H$S>r ii) VmZmOr gmJa
c) doid§S>r iii) ¶ed§V gmJa
d) ‘wR>m iv) ¶ogmOr H§$H$ gmJa
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (i) (iv)

3) (iv) (ii) (iii) (i)

4) (i) (iv) (ii) (iii)
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22) Match the correct pairs.

Column I (River) Column II (Lake)

a) Bhima i) Shahaji Sagar

b) Kukadi ii) Tanaji Sagar

c) Velwandi iii) Yashwant Sagar

d) Mutha iv) Yesaji Kank Sagar

Answer options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (i) (iv)

3) (iv) (ii) (iii) (i)

4) (i) (iv) (ii) (iii)

23) Adf©UàdU nmUbmoQ> joÌmÀ`m gw{dYogmR>r n¥ð>^mJmÀ`m nmÊ`mÀ`m àUmbrMo à^mdr ì`dñWmnZ H$aÊ`mgmR>r JmoXmdar
ZXrda ~m§YÊ`mV Ambobm OJmVrb gdm©V ‘moR>m ~hþCÔoer` OrdZ qgMZ àH$ën H$moUVm Amho?
1) {ZOm‘ gmJa àH$ën 2) {ga‘ gmJa àH$ën
3) H$mò Zm Obme` 4) H$mida‘ àH$ën

23) Which is the world's largest multipurpose life irrigation project constructed on the Godavari

River for effective management of surface water system to facilitate drought prone watershed

areas ?

1) Nizam sagar Project 2) Siram Sagar Project

3) Koyana reservoir 4) Kaleswaram Project

24) ‘hmamï´>mVrb ObàH$ën d Ë¶m§À¶m nmUr gmR>çmV Agbobr Zmdo ¶m§À¶m ¶mo½¶ OmoS>çm bmdm …
ObàH$ën Ob gmR>çm§Mo Zmd
a) H$mo¶Zm i) ZbX‘¶§VrgmJa
b) §̂S>maXam ii) ZmWgmJa
c) Aßna dYm© iii) {edgmJa
d) Om¶H$dmS>r iv) AmW©a gamoda
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (i) (iv) (ii) (iii)

3) (iv) (iii) (ii) (i)

4) (iii) (iv) (i) (ii)

24) Match the correct pairs of water project and the name of its water storage in Maharashtra :

Water Project Name of Water Storage

a) Koyana i) Nala Damayanti Sagar

b) Bhandardara ii) Nathsagar

c) Upper wardha iii) Shivsagar

d) Jayakwadi iv) Arthar Sarovar
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For Private Circulation Only

Answer options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (i) (iv) (ii) (iii)

3) (iv) (iii) (ii) (i)

4) (iii) (iv) (i) (ii)

25) Oc{dÚwV àH$ën Am{U {d^mJ Imcr XoÊ¶mV Amco AmhoV . ¶mo½¶ OmoS>çm Owidm.
ñV§̂  I ñV§̂  II

a) gy¶m© i) A‘amdVr
b)  XþYJ§Jm ii) Zm{eH$
c) H$a§OdU iii) nwUo
d) ehmZya iv) H$moH$U
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (iv) (iii) (ii)

3) (ii) (i) (iv) (iii)

4) (iii) (ii) (iii) (iii)

25) Hydro power projects and zone given below. Match the correct pairs.

 Column I Column II

a) Surya i)  Amaravati

b) Dudhganga ii) Nashik

c) Karanjwan iii) Pune

d) Shahanoor iv) Konkan

Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (iv) (iii) (ii)

3) (ii) (i) (iv) (iii)

4) (iii) (ii) (iii) (iii)

26) JmoXmdar ZXrÀ¶m Imoè¶m§er g§~§{YV Imbrb {dYmZo {dMmamV ¿¶m.
a) àdam Am{U ‘wim ¶m JmoXmdarÀ¶m COì¶m VramÀ¶m CnZÚm AgyZ Ë¶m§Mm CJ‘ àXoemVrb AV{d¥ï>rMm Ë¶m§Zm ’$m¶Xm

hmoVmo.
b) ‘m§Oam ZXr hr JmoXmdarMr CnZXr Amho Or ~mbmKmQ> nR>mamda dmhVo.
c) àmU{hVm Imoao hm JmoXmdar Imoè¶mMm ^mJ Zmhr.
d) JmoXmdar Imoè¶mZo ‘hmamï´> amÁ¶mMo 38% joÌ ì¶mnbo Amho.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/V?
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b)

3) ’$º$ (a), (b) Am{U (c) 4) darb gd©
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26) Consider the following statements regarding Godavari river basins.

a) Pravara and Mula are right bank tributaries of Godavari and benefit from rainfall in their source

region.

b) Manjra river is a tributary of Godavari which flows on Balaghat Plateau.

c) Pranahita basin is not a part of Godavari basin.

d) Godavari basin covers 38% area of Maharashtra state.

Which of the above statement/s is/are correct?

1) (a) only 2) (a) and (b) only

3) Only (a), (b) and (c) 4) All of the above

27) JmoXmdar d H¥$îUm ZÚm§À¶m VwcZoZo H$mdoar ZXrÀ¶m nmÌmV {hdmù¶mV nmÊ¶mMo à‘mU dmT>Vo, H$maU
1) Z¡F$Ë¶ ‘mÝgyZ dmè¶m§‘wio H$mdoar ZXrÀ¶m nmÌmV nO©Ý¶d¥ï>r ‘moR>çm à‘mUmV hmoVo.
2) B©emÝ¶ ‘mÝgyZ dmè¶m§‘wio H$mdoar ZXrÀ¶m nmÌmV nO©Ý¶d¥ï>r ‘moR>çm à‘mUmV hmoVo.
3) H$mdoar ZXrÀ¶m nmÌmV B©emÝ¶ d Z¡F$Ë¶ ‘mÝgyZ dmè¶m§nmgyZ nO©Ý¶d¥ï>r hmoVo.
4) H$mdoar ZXrÀ¶m CnZÚm H$mdoar ZXrÀ¶m nmÌmV ‘moR>çm à‘mUmV nmÊ¶mMm nwadR>m H$aVmV.

27) As compared to the Godavari and Krishna rivers, the course of the Kaveri river receives large

volume of water during winter, because

1) The course of the river Kaveri receives heavy rainfall from the south-west monsoons

2) The course of the river Kaveri receives heavy rainfall from the north-east monsoons

3) The course of the river Kaveri receives rainfall from both south-west and north-east monsoons

4) The tributaries of the Kaveri provide large volume of water to the course of the Kaveri

28) ...... Am{U ...... À¶m g§¶wº$sH$aUmZo ~Zbobo ZXràmê$nmMo AmH$mambm ZXràmê$n Ago åhUVmV.
1) ZXr Vbmd 2) {h‘ZXr, Vbmd 3) ZXr, ghmæ¶H$ ZÚm 4) darbn¡H$s Zmhr

28) Drainage pattern refers to a design which ...... and its ...... form together.

1) river, lake 2) glacier, lake 3) river, tributaries 4) None of the above

29) àdmhmVyZ OmñVrV OmñV {dgO©ZmMm A§XmO KoÊ`mgmR>r Imbrbn¡H$s H$moUVm dmnabm OmV Zmhr?
1) {S>H$Ýg ’$m°å ẁ©bm 2) B§p½bg ’$m°å ẁ©bm 3) MoPr ’$m°å ẁ©bm 4) Imogbm ’$m°å ẁ©bm

29) Which of the following is not used to estimate maximum discharge through stream ?

1) Dickens formula 2) Inglis formula 3) Chezy formula 4) Khosla formula

30) Imbrbn¡H$s H$moUË`m àH$maÀ`m {~KmS>m§Zm n¥Ïdr YaUmMo g§aMZmË‘H$ An`e åhUyZ dJuH¥$V Ho$bo OmVo?
1) nm`m‘YyZ nmB©n Q>mH$Uo 2) VQ>~§XrMo gaH$Uo
3) AnñQ´r‘ Mohè`mMr Yyn 4) S>mCZñQ´r‘ Mohè`mMr Yyn

30) Which of the following types of failures is classified as a structural failure of an earth dam ?

1) Piping through foundation 2) Sliding of embankment

3) Erosion of upstream face 4) Erosion of downstream face

31) Imbrbn¡H$s H$moUË`mMm ‘hmamï´>mVrb EH${ÌV ObMam§VJ©V {dMma Ho$bm OmV Zmhr?
1) S>o̧ $Z Q°́ßg 2) gm°ga grarO 3) Jm|S>dmZ 4) qdÜ`

31) Which of the following is not considered under consolidated aquifers in Maharashtra ?

1) Deccan Traps 2) Saucer series 3) Gondwanas 4) Vindhyans
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32) ObMH«$mV ho g‘m{dï> Amho:
1) ~mînr^dZ, n¥ð>^mJmdarb àdmh, dfm©d, ŷn¥ð>mdarb àdmh.
2) n¥ð>^mJmdarb àdmh, dfm©d, Cnn¥ð>r` àdmh
3) ~mînr^dZ, n¥ð>^mJmdarb àdmh, dfm©d
4) ~mînr^dZ, n¥ð>^mJmdarb àdmh, ŷn¥ð>mdarb àdmh

32) Hydrologic cycle includes :

1) Evaporation, surface runoff, precipitation, subsurface runoff.

2) Surface runoff, precipitation, subsurface runoff

3) Evaporation, surface runoff, precipitation

4) Evaporation, surface runoff, subsurface runoff

33) gm‘mÝ`V… j¡{VO {XeoZo ngabobo JmimMo d A{¾OÝ¶ IS>H$, nmÊ`mÀ`m àdmhmg EH$g‘mZ à{VH$ma H$aVmV. Aem
ñdénmÀ¶m EH$g‘mZ à{VamoYH$ IS>H$m§da {dH${gV Pmbobr ZXràUmbr/ SóZoO n°Q>Z© åhUOo ........
1) Am`VmH¥$Vr  2) ~«oS>oS> 3) Q́obrg 4) S|>{S´{Q>H$

33) ............. drainage pattern generally develops upon homogenous rocks of uniform resistance, such

as, horizontally bedded sedimentary rocks and massive igneous rocks that offer uniform resistance

in the flow of water.

1) Rectangular 2) Braided 3) Trellis 4) Dendritic

34) J§Jm Am{U `‘wZm ZXr (J§JoMr EH$ à‘wI CnZXr) `m§Zm H$m`Xoera ì`º$s åhUyZ g‘mZ A{YH$ma AmhoV ho Imbrbn¡H$s
H$moUË`m Cƒ Ý`m`mb`mZo àW‘ AmoiIbo?
1) {X„r Cƒ Ý`m`mb` 2) ‘Ü` àXoe Cƒ Ý`m`mb`
3) CÎma àXoe Cƒ Ý`m`mb` 4) CÎmamI§S> Cƒ Ý`m`mb`

34) Which of the following High Court were the first to recognize that the Ganges and the Yamuna

River (a major tributary of the Ganges) have the same rights as a legal person?

1) Delhi High Court 2) Madhya Pradesh High Court

3) Uttar Pradesh High Court 4) Uttarakhand High Court

35) Imbrbn¡H$s H$moUË`mMr hm`S´m°{bH$ MmbH$Vm gdm©V H$‘r Amho?
1) IS>~S>rV IS>r 2) {T>Jmè`mMr dmiy 3) ~marH$ dmiy 4) MwZIS>r

35) Which of the following has the lowest hydraulic conductivity ?

1) Coarse gravel 2) Dune sand 3) Fine sand 4) Limestone

36) Oo Zmbo CÝhmù`mV H$moaS>o nS>VmV Am{U Ë`mV ’$º$ nmdgmù`mV nmUr AgVo Ë`m§Zm ................ Ago åhUVmV.
1) AYyZ‘YyZ òUmao àdmh 2) H$moaS>o AmoT>o
3) nmdgmir Pao 4) ~ma‘mhr àdmh

36) Those streams which dry up in summer and contain water only during rainfall are known as  ................

1) Intermittent streams 2) Dry streams

3) Rainy streams 4) Perennial streams

37) O{‘ZrÀ`m n¥ð>^mJmdarb q~Xy Am{U daÀ`m ŷObmÀ`m n¥ð>^mJmdarb ŷOb nmVir `m§À`mVrb Cä`m C§MrÀ`m ’$aH$mbm
åhUVmV :
1) Imobr Vo nmUr nmVir 2) ŷOb g‘Vwë` ’$aH$
3) nm`Pmo‘o{Q´H$ n¥ð>^mJ 4) EHy$U hm`S´m°{bH$ hoS> J«o{S> §̀Q>
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37) The vertical elevation difference between a point on the ground surface and the groundwater level

at the top groundwater body is known as :

1) Depth to water level 2) Groundwater equipotential difference

3) Piezometric surface 4) Total hydraulic head gradient

38) Am{Q©>{g`Z pñWVr CØdVo Ooìhm:
1) ObMa A{Z §̀{ÌV Amho 2) nmÊ`mMo Q>o~b Amho
3) nmÊ`mMo Vº$m O{‘ZrÀ`m nmVirnojm da Amho 4) nm`Pmo‘o{Q´H$ n¥ð>^mJ O{‘ZrÀ`m nmVirnojm da Amho

38) Artesian condition occurs when the :

1) Aquifer is unconfined 2) Water table is perched

3) Water table is above ground level 4) Piezometric surface is above ground level

39) nmUbmoQ>mMr gd©gmYmaU ì`m»`m.
1) Á`m ^mJmVyZ n¥ð>^mJmdarb nmUr Xwgè¶m àdmhmV dmhVo.
2) {Xboë`m àdmhmÀ`m q~Xyda àdmhmgmR>r àdmhmÀ`m KZVoVrb O‘rZ joÌ
3) {Xboë`m àdmhmV ñQ´r‘ SóZoO ZoQ>dH©$ Agbobo joÌ doJdoJù`m {XeoZo {ZMam H$ê$ eH$VmV.
4) gd© O{‘ZrMo joÌ Oo àdmh àUmbr‘Ü ò dmhÿZ OmVo, Ë`mÀ`m Vm|S>mVyZ daÀ`m ~mOybm OmVo Am{U Ë`m^modVr {d^mJUr

AgVo.
39) The general definition of a watershed.

1) The area by where surface water flows to another stream.

2) Land area in the streamflow density for flows at a given stream point

3) Areas with stream drainage network at a given stream can drain different direction.

4) All land area which drains into a stream system, upstream from its mouth and is surrounded

with a divide.

40) nmUbmoQ> joÌm‘Ü ò Adf©U ~XbUmam nmD$g åhUOo Z¸$s H$m`.
1) nmUbmoQ> àXoemV AË §̀V n[adV©Zerb nmdgmMm H$mbmdYr
2) ZXrÀ`m nmÊ`mMr nmVir nmUbmoQ> joÌmÀ`m Imbr òVo
3) nmUbmoQ> àXoemV gamgarnojm H$‘r nmdgmMm {d{eï> H$mbmdYr
4) ‘mZd Am{U àmUr OJÊ`mgmR>r nmÊ`mMr CnbãYVm H$‘r hmoV Amho.

40) What exactly is drought variable rainfall in the watershed reigon.

1) Period of highly variable rainfall in the watershed region

2) River water levels fall below the watershed region

3) A specific period of below-average rainfall in the watershed region

4) The availability of water for human and animal survival is decreasing.

41) hm`S´mo-{O`moHo${‘ñQ´r åhUOo H$m`?
1) {df` àmXo{eH$ ŷJ ©̂emómÀ`m g§~§YmV n¥ð>^mJ Am{U n¥ð>^mJmdarb nmÊ`mÀ`m agm`Zemómer g§~§{YV Amho.
2) {df` n¥ð>^mJmdarb nmÊ`mÀ`m JwUm§er g§~§{YV Amho.
3) hm {df` I{ZOo Am{U IS>H$m§À`m ŷ-agm`Zemómer g§~§{YV Amho
4) hm {df` IS>H$ Am{U I{ZOm§À`m noQ´moHo${‘H$b Aä`mgmer g§~§{YV Amho
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41) What is hydro-geochemistry ?

1) The subject deals with the chemistry of surface and subsurface water in relation to regional

geology.

2) The subject deals with surface water qualities.

3) The subject deals with geochemistry of minerals and rocks

4) The subject deals with petrochemical studies of rocks and minerals

42) àXoemVrb n¥ð>^mJ Am{U ŷn¥ð>mdarb ObàUmbrMo ‘yë`m§H$Z H$aÊ`mV Ob{dkmZ MH«$ H$moUVr ŷ{‘H$m ~OmdVo?
1) nO©Ý`d¥ï>r qH$dm nmD$g nS>Uo ~mînr^dZ, ~mînr^dZ n¥ð>^mJ-dmhUo ŷOb àdmh
2) n¥ð>^mJmdarb dmè`mMm àdmh-dZñnVr, KwgImoar
3) n¥ð>^mJ Am{U Cn-n¥ð>^mJmMo nmUr
4) O{‘ZrMm n¥ð>^mJ-KwgImoar, ŷ-Ob àdmh

42) What role does the hydrological cycle play in assessing surface and subsurface water system in

the region ?

1) Precipitation or rain fall Evaporation, Evapotranspiration Surface-runoff Groundwater flow

2) Surface run-off-Wind flow-Vegetation, infiltration

3) Surface and sub-surface water

4) Land surface-Infiltration, Ground-water flow

43) gd©gmYmaUnUo, ‘hmamï´> amÁ` ŷOb àm§VmMo {ZarjU: OwÝ`m Iwë`m {d{har `m H$maUm§‘wio H$moaS>çm nS>V AmhoV:
1) bmoH$ OwÝ`m ‘moH$ù`m {d{hatMm dmna H$moUË`mhr dmnamgmR>r H$aV ZmhrV
2) {d{har PmS>o, PwS>no PmS>m§Zr AmÀN>m{XV AmhoV
3) ñWm{ZH$ bmoH$m§H$Sy>Z {d{hatMr {Z`{‘V XoI^mb Ho$br OmV Zmhr
4) gÜ`mÀ`m OwÝ`m {d{hatÀ`m AJXr Odi A{V[aº$ ~moAadob ImoXë`m OmVmV

43) In General, Maharashtra state ground water province observed : old open wells are drying due to:

1) People are not utlising old open wells for any utlisation

2) Wells are covered by tree, shrubs vegetation

3) Wells are not m properly maintained regularly by local people

4) Additional bore wells are drilled close proximity to the existing old wells

44)  ............ hm AmYma Amho Á`mÀ`m AmYmao ŷOb ì`dñWmnZmMo {Z`moOZ Ho$bo OmVo Á`mMm ObgmR>m da ZH$mamË‘H$
n[aUm‘ Z H$aVm H$mT>Vm òVmo.
1) ‘m{gH$ ŷOb CËnÞ 2) dm{f©H$ ŷOb CËnÞ
3) Am°naoeZb ŷOb CËnÞ 4) ŷOb CËnÞmMr Q> o̧$dmar

44) ............ is the basis on which groundwater management is planned with withdrawals that could be

made without negatively affecting the aquifer inventory.

1) Monthly ground water yield 2) Annual ground water yield

3) Operational ground water yield 4) Percentage of ground water yield

45) H$moUVr H|$Ðr` ŷJ ©̂ gaH$mar g§ñWm {Z`{‘VnUo XoemÀ`m EHy$U ŷn¥ð>mdarb nmÊ`mMo Am°{S>Q> H$aVo?
1) H|$Ðr` ŷOb ‘§S>i 2) H|$Ðr` añVo g§emoYZ g§ñWm
3) ^maVmMo ŷd¡km{ZH$ gd}jU 4) Vob Am{U Z¡g{J©H$ dm ỳ Am`moJ
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45) Which Central Ground Government Organization regularly audits the country's total subsurface

water?

1) Central Ground Water Board 2) Central Road Research Institute

3) Geological Survey of INdia 4) Oil and Natural Gas Commission

46) Imbrbn¡H$s H$moUVo pñà§H$ba qgMZ àUmbrMr ‘`m©Xm ‘mZbr OmVo?
1) JiVrMo ZwH$gmZ Xya hmoVo 2) bmJdS>rMo H$moUVohr joÌ Zï> hmoV Zmhr
3) `m nÕVr‘wio jma Imbr nS>VmV 4) doJdmZ dmao Vwfma qgMZmMm n°QZ© ~Xby eH$VmV.

46) Which of the following is considered as the limitation of sprinkler irrigation system ?

1) Seepage losses are eliminated 2) No cultivation area is lost

3) This method leaches down salts 4) High winds may distort sprinkler pattern

47) ~mJoVrb PmS>m§gmR>r {deofV… Adb§~bobr nmUr {dVaU nÕV ................ Amho.
1) ~m°S>©a âbqS>J 2) MoH$ âbqS>J 3) ~o{gZ âbqS>J 4) O§Jbr nya

47) The water distribution method adopted specially for orchard trees is  ................

1) Border flooding 2) Check flooding 3) Basin flooding 4) Wild flooding

48) ZXrVrb Ajr` àdmh amIÊ`mgmR>r Imbrbn¡H$s H$moUVr ZXr n[aajU aMZm dmnabr OmVo?
1) {nMS> ~oQ> 2) J«mò Ýg 3) boìhrO 4) ‘mJ©Xe©H$ ~m§Y

48) Which of the following river training structures is used for maintaining axial flow in the river ?

1) Pitched Island 2) Groynes 3) Levees 4) Guide Bunds

49) IS>Va àXoemV EH$‘oH$m§À`m AJXr Odi {S´b Ho$bobo ~moAadob ................. .
1) ŷOb CËnmXZ dmT>dm
2) ŷOb CËnÞmda n[aUm‘
3) ŷOb CËnmXZmV H$moUVmhr ~Xb Zmhr
4) ŷOb CËnÞ H$‘r H$am Am{U Vo ñWm{ZH$ hm`S´mo{O`mobm°{OH$b H§${S>Q>moBZda Adb§~yZ Amho

49) Borewells drilled close to each other in hard terrain will ................. .

1) Increase ground water yield

2) Impact on ground water yield

3) No change in ground water yield

4) Reduce ground water yield and it depends upon local hydrogeological conditoins

50) ŷOb Imoè`mVrb nmÊ`mÀ`m gmaUrÀ`m pñWVrdarb MwH$sÀ`m {dYmZmMr `mXr H$am.
1) nmÊ`mMm {dgJ© nmÊ`mÀ`m nwZ ©̂aUmV g‘Vmob amIbm OmV Zmhr Voìhm nmÊ`mMo Vº$m ~XbVmo
2) Vbmd Am{U Q>mŠ`m§‘Ü ò nmUr gmYmaUnUo O{‘ZrÀ`m n¥ð>^mJmÀ`m da AgVo.
3) ŷOb Imoè`mV OmñV à‘mUmV nmUr gmoS>ë`mg nmÊ`mMo Vº$m H$‘r-A{YH$ à‘mUmV gnmQ> AgVmo.
4) OmñV à‘mUmV n§qnJ {d{hatÀ`m Odi nmÊ`mMr nmVir H$‘r Ho$br OmVo.

50) List out the false statement on water table conditions in groundwater basins.

1) The water table changes when discharge of water is not balanced with recharge of water

2) The water is generally above the land surface in a lakes and tanks.

3) The water table is more or less flat during excess with drawl in ground water basins.

4) The water table is lowered near high volume of pumping wells.
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51) [aMmO©À`m g§X^m©V OmñV n§n Ho$ë`mZo ........ hmoD$ eH$Vo.
1) ŷOb nmVir dmT>Vo 2) {d{harMo nmUr A{YH$ ‘wº$nUo dmhÿ bmJVo.
3) ŷOb nmVir dmT>Vo. 4)  ImobJQ>  e§Hy$ V`ma hmoB©b

51) Pumping too much in relation to recharge can result in ........

1) Ground Water table increases 2) Well water begins to flow more freely.

3) The level of ground water rises. 4) A cone of depression will form

52) H$moUË`m loUr‘Ü ò nya, Imoao qH$dm nmPa Vbmd, àdmh dmT>dUo, I§XH$ Am{U ’$amo {gñQ>r‘ Am{U ŷObmÀ`m H¥${Ì‘
nwZ ©̂aUmgmR>r dmnaÊ`mV òUmao A{VqgMZ `m§Mm g‘mdoe hmoVmo?
1) WoQ> n¥ð>^mJ V§Ì 2) WoQ> Cn-n¥ð>^mJ V§Ì
3) n¥ð>^mJ Am{U Cn n¥ð>^mJ V§Ìm§Mo g§̀ moOZ 4) AàË`j V§Ì

52) Which category includes flooding, basins or percolation tanks, stream augmentation, ditch and

furrow systems, and over irrigation used for artificial recharge of groundwater ?

1) Direct surface techniques

2) Direct sub-surface techniques

3) Combination of surface and sub surface techniques

4) Indirect techniques

53) MwH$sMo {dYmZ {ZdS>m:
1) JS>{Mamobr, A‘amdVr, ZmJnya Am{U `dV‘mi {Oëøm§‘Ü ò Jm|S>dmZm ’$mo‘oeZMo dmiyMo IS>o OmoS>bobo Am{U ^¾

Pmbobo AmhoV Am{U Ë`m§Zm Xwæ`‘ gpÀN>ÐVm Amho.
2) aËZZJar, qgYwXwJ© Am{U H$moëhmnya {OëømV OoWo {H$Zmar Jmi Am{U b°Q>amBQ>Mo àm~ë` Amho, VoWo ImoXboë`m

{d{hatZm Mm§Jbm {dgJ© {‘iVmo.
3) X{jU Ah‘XZJa, gmobmnya, Cñ‘mZm~mX, {Oëho, OoWo Am§VaQ°́{n`Z Jmi Am{U S>mB©Ho$Q> KwgImoar{edm` ~ogmëQ>

àdmh CnpñWV AmhoV na§Vw à‘wI bmb ~mobo {j{VOm§gh, nmaJå`Vm AË §̀V Iam~ Amho.
4) A‘amdVr, AH$mobm Am{U ~wbT>mUm {OëømVrb H$mhr ^mJm§‘Ü ò ngaboë`m nyUm© Aëha{dAb Imoè`mVrb jma ẁº$

àXoemV, ŷObmMr jmaVm hr ŷJ^m©Vrb ŷJ^u` g§aMZoer g§~§{YV Agë`mMo {XgVo.
53) Choose the incorrect statement :

1) In the Gadchiroli, Amravati, Nagpur and Yavatmal districts, the sandstones of Gondwana

fomations are jointed and fractured and possess secondary porosity.

2) In the Ratnagari, Sindhudurg and Kolhapur district where the coastal sedimentaries and laterite

predominate, yield good discharge to dug-wells.

3) In the South Ahmednagar, Solapur, Osmanabad, districts, where basalt flows are present without

intertrappean sediments and dyket intrusions but with prominent red bole horizons, the

permeability is extremely poor.

4) In saline tract of Purna alhrvial basin which spreads in parts of Amravati, Akola and Buldhana

district, the salinity of ground water seems to be related with geological set up of the area

because of poor transmissivity of the aquifer.
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54) Imbrbn¡H$s H$moUVo {dYmZ gË` Zmhr?
1) aËZm{Jar, qgYwXwJ© Am{U H$moëhmnya {Oëho ImoXboë`m {d{harVyZ Mm§Jbm {dgJ© XoVmV.
2) JS>{Mamobr, A‘amdVr, M§Ðnya, ZmJnya Am{U `dV‘mi {Oëôµ̀ m§‘Ü ò dmiyMo IS>o OmoS>bobo Am{U ^¾ Pmbobo AmhoV

Am{U Ë`mV Xwæ`‘ gpÀN>ÐVm Amho.
3) A‘amdVr, AH$mobm, ~wbT>mUm, OiJmd Am{U Ywio {Oëøm§Vrb 80 ‘rQ>aÀ`m Imbr Agbobo OwZo ObmoXa ’$mago

CËnmXH$ Zmhr.
4) Ywio, ZmJnya Am{U A‘amdVr

54) Which of the following statements is not true ?

1) Ratnagiri, Sindhudurg and Kolhapur districts yield good discharge to dug-wells.

2) In Gadchiroli, Amravati, Chandrapur, Nagpur and Yavatmal districts, sandstones are jointed and

fractured and possess secondary porosity.

3) The older alluvium below 80 m in Amravati, Akola, Buldhana, Jalgaon and Dhule districts is

not very productive.

4) Dhule, Nagpur, and Amravati districts are highly productive due to the presence of

hydrogeological units such as Infratrappean, Bagh Beds and Lametas.

55) Am{e¶m I§S>mVrb boH$ Q>°qnJMm n{hbm à¶moJ H$mo¶Zm Obme¶mV H$moUË¶m dfu H$aÊ¶mV Ambm?
1) ‘mM© 1974 2) ‘mM© 1967 3) ‘mM© 1999 4) ‘mM© 1975

55) In which year the First experiment of lake tapping in Asia was done in Koyna reservoir ?

1) March 1974 2) March 1967 3) March 1999 4) March 1975

56) {edZm ZXrMm CJ‘ H$moUË¶m ^mJmV hmoVmo?
1) AqOR>m S>m|Ja 2) ^moa JS>
3) dUr S>m|Ja 4) gmVnwS>m nd©V am§J

56) In which area does ‘Shivana’ river originate ?

1) Ajanta Hills 2) Bhor gad

3) Vani Hills 4) Satpuda Mountain range

57) Imbrbn¡H$s H$moUVr ^r‘m ZXrMr CnZXr Zmhr?
1) grZm 2) ‘mU 3) ^m‘m 4) VoaUm

57) Which of the following is not a tributary of Bhima river ?

1) Sina 2) Man 3) Bhama 4) Terna

58) Imbrbn¡H$s H¥$îUm ZXrÀ¶m CnZÚm§Mr ¶mo½¶ OmoS>r H$moUVr Amho?
1) AH$m©dVr - ^dmZr 2) H$mo¶Zm - àmU{hVm
3) ‘wgr - ho‘mdVr 4) ‘bà^m - Vw§J^Ðm

58) Which of the following is the correct pair of tributaries of river Krishna ?

1) Arkavati - Bhavani 2) Koyana - Pranhita

3) Musi - Hemavati 4) Malprabha - Tungabhadra
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For Private Circulation Only

8) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
1) ¶mo½¶ OmoS>çm Owidm -

{eIa, {R>H$mU C§Mr (‘rQ>a)
a) ‘m§Jr-Vw§Jr i) 1567
b) Í¶§~Ho$ída ii) 1416
c) gáe¥§Jr iii) 1304
d) gmëhoa iv) 1100
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iiI) (ii) (i)

2) (iv) (i) (ii) (iv)

3) (ii) (i) (iii) (iv)

4) (i) (ii) (iii) (iv)

1) Match the following : hE fh

Peak, Place Height (meter)

a) Mangi-Tungi i) 1567

b) Feri ii) 1416

c) Saptashringi iii) 1304

d) Salher iv) 1100

Answer Options :

(a) (b) (c) (d)

1) (iv) (iiI) (ii) (i)

2) (iv) (i) (ii) (iv)

3) (ii) (i) (iii) (iv)

4) (i) (ii) (iii) (iv)

2) ‘hmamï´>mVrb C§M {eIao d Ë¶m§Mr C§Mr ¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
C§M {eIao C§Mr (‘rQ>a)
A) h[aíM§ÐJS> I) 1438
~) VmoaUm II) 1567$
H$) ‘hm~ioída III) 1404
S>) gmëhoa IV) 1424
n¶m©¶r CÎmao …

A ~ H$ S>
1) IV III I II

2) III IV I II

3) II I IV III

4) I II III IV
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2) Match the highest peaks in Maharashtra with their height.

Height of highest peaks (meters)

a) Harishchandragarh I) 1438

b) Torna II) 1567

c) Mahabaleshwar III) 1404

d) Salher IV) 1424

Answer options :

A B C D

1) IV III I II

2) III IV I II

3) II I IV III

4) I II III IV

3) gømÐr hm ............ àH$maMm nd©V Amho.
1) JQ> 2) KS>r 3) Ad{eï> 4) Ádmcm‘wIr

3) Sahyadri is a ............ type of mountain.

1) Group 2) Fold 3) Residual 4) Volcanic

4) ‘hmamï´>mVrb gømÐr nd©VmVrb {eIam§À¶m C§MrZwgma H$moUVm CVaVm H«$‘ ~amo~a Amho?
1) ‘hm~ioída - h[aíM§ÐJS> - gmëhoa - gál¥§Jr
2) ‘hm~ioída - gmëhoa - gál¥§Jr - h[aíM§ÐJS>
3) gmëhoa - ‘hm~ioída - gál¥§Jr - h[aíM§ÐJS>
4) gmëhoa - ‘hm~ioída h[aíM§ÐJS> - gál¥§Jr

4) Which is the correct descending order of height of Sahyadri Mountain Peaks of Maharashtra ?

1) Mahabaleshwar — Harishchandragad — Salher — Saptshrungi

2) Mahabaleshwar — Salher — Saptshrungi — Harishchandragad

3) Salher — Mahabaleshwar — Saptshrungi — Harishchandragad

4) Salher — Mahabaleshwar — Harishchandragad — Saptshrungi

5) ‘Ü¶ {h‘mb¶rZ am§JoVrb {eIam§Mm C§MrZwgma H$moUVm MT>Vm H«$‘ ¶mo½¶ Amho?
1) Ydb{Jar - AÞnwUm© - ‘H$mbw - H$m§MZJ§Jm 2) AÞnyUm© - ‘H$mbw - Ydb{Jar - H$m§MZJ§Jm
3) H$m§MZJ§Jm - AÞnwUm© - Ydb{Jar - ‘H$mbw 4) AÞnwUm© - Ydb{Jar - ‘H$mbw - H$m§MZJ§Jm

5) In middle Himalaya, as per the height of peaks, which ascending order is correct ?

1) Dhavalgiri — Annapurna — Makalu — Kanchanjunga

2) Annapurna — Makalu — Dhavalgiri — Kanchanjunga

3) Kanchanjunga — Annapurna — Dhavalgiri — Makalu

4) Annapurna — Dhavalgiri — Makalu — Kanchanjunga

6) gømÐr nd©VmMr EH$ emIm gmobmnya {OëømH$S>o OmVo. Vr emIm ¶m ZmdmZo AmoiIbr OmVo.
1) h[aíM§Ð S>m|Ja 2) ‘hmXod S>m|Ja
3) gmV‘mim S>m|Ja 4) ~mioída S>m|Ja

6) A branch of the Sahyadri Mountain range leads to Solapur district which is known as

1) Harischandra Dongar 2) Mahadev Dongar

3) Satmala Dongar 4) Baleshwar Dongar
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7) ^r‘m Am{U H¥$îUm ZXrMo Imoao Imcrcn¡H$s H$moUË¶m S>m|Jam§‘wio doJdoJir Pmcocr AmhoV ?
1) gmV‘mim - AqOR>m 2) h[aü§Ð - ~mcmKmQ>
3) e§̂ y - ‘hmXod 4) gmVnwS>m - Jm{dcJS>

7) Bhima and Krishna river valleys are separated by which of the following mountains?

1) Satmala - Ajantha 2) Harishchandra - Balaghat

3) Shambhu - Mahadev 4) Satpuda - Gavilgad

8) Imbrbn¡H$s H$moUË¶m nd©V am§Jm / Q>oH$S>çm JmoXmdar ZXr H$aVmV?
a) ‘hmXod S>m|Ja b) gmV‘mim S>m|Ja c) ~mbmKmQ> S>m|Ja d) AO§Q>m S>m|Ja
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (d) 2) ’$º$ (b) 3) ’$º$ (c) 4) ’$º$ (a)

8) Which of the following mountain ranges/hills separate Godavari river basin and Bheema river

basin from each other ?

a) Mahadev Hills b) Satmala Hills c) Balaghat Hills d) Ajanta Hills

Answer options :

1) Only (a) and (d) 2) Only (b) 3) Only (c) 4) Only (a)

9) gømÐrMr am§J gai aofoV ZgyZ AZoH$ {R>H$mUr Vr dH«$mH$ma Pmcocr Amho H$maU
1) gømÐrVyZ CJ‘ nmdUmè¶m H$moH$UmVrc ZÚm§Zr CJ‘mnmer Ho$coë¶m erf©dVu IZZm‘wio Vr dH«$mH$ma Pmcocr Amho.
2) gømÐrVyZ CJ‘ nmdUmè¶m H$moH$UmVrc ZÚm§À¶m nmíd©dVu IZZm‘wio Vr dH«$mH$ma Pmcocr Amho.
3) gømÐrVyZ CJ‘ nmdUmè¶m H$moH$UmVrc ZÚm§À¶m VimÀ¶m IZZm‘wio Vr dH«$mH$ma Pmcocr Amho.
4) gømÐrVyZ nS>Umè¶m ‘wgiYma nO©Ý¶m‘wio gømÐrMr PrO hmoD$Z Vr dH«$mH$ma Pmcocr Amho.

9) The Sahyadri range is not straight but at many places it is curved, because

1) The Sahyadri range is curved at many places because of the headward erosion of the

Konkan rivers originating in Sahyadri

2) The Sahyadri range is curved at many places because of the lateral erosion of the Konkan

rivers originating in Sahyadri

3) The Sahyadri range is curved at many places because of the downward erosion of the Konkan

rivers originating in Sahyadri

4) Due to heavy rainfall the Sahyadri range is heavily eroded and hence it is curved

10) am¶bgr‘m nR>mamMo ñWmZ ........... ¶oWo Amho?
1) H$Zm©Q>H$ nR>mamÀ¶m CÎmaobm 2) H$Zm©Q>H$ nR>mamÀ¶m npíM‘obm
3) H$Zm©Q>H$ nR>mamÀ¶m X{jUobm 4) H$Zm©Q>H$ nR>mamÀ¶m nyd}bm

10) Railseema Plateau is located in ...............  region.

1) North of Karnataka Plateau 2) West of Karnataka Plateau

3) South of Karnataka Plateau 4) East of Karnataka Plateau

11) X»IZMo nR>ma ~ogm°ëQ> d J«°ZmB©Q> IS>H$m§Zr ~Zbobo Amho, H$maU
A) ¶m {R>H$mUr OmñV CîUVm Amho. ~) Ádmbm‘wIr à{H«$¶m
H$) ŷH§$n joÌ S>) g‘wÐ gm{ZÜ¶
n¶m©¶r CÎmao …
1) ~ Am{U H$ 2) ’$º$ ~ 3) A Am{U S> 4) ’$º$ H$
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11) The Deccan Plateau is composed of basalt and granite rock, because

A) High temperature of this region B) Volcanic process

C) Earthquake region D) Near the sea

Answer options :

1) B and C 2) Only B 3) A and D 4) Only C

12) Imbrbn¡H$s H$moUVo ~oQ> Zmhr?
A) gmbgoV ~) Im§Xoar H$) C§Xoar S>) gmëhoa
n¶m©¶r CÎmao …
1) ’$º$ ~ ~amo~a Amho 2) ’$º$ A Am{U ~ ~amo~a AmhoV
3) ’$º$ S> ~amo~a Amho 4) ’$º$ H$ Am{U S> ~amo~a AmhoV

12) Which of the following is not an island ?

A) Salsette B) Khanderi C) Under D) Salher

Answer options :

1) Only B is correct 2) Only A and B are correct

3) Only D is correct 4) Only C and D are correct

13) Imbrb {dYmZm§Mm {dMma H$am …
a) gømÐr nd©V d Aa~r g‘wÐ ¶m§À¶m Xaå¶mZ Agboë¶m bm§~Q> qMMmoù¶m gIb ^mJmbm H$moH$U Ago åhUVmV.
b) ‘hmamï´>mÀ¶m npíM‘obm d Aa~r g‘wÐmbm bmJyZ Agboë¶m gømÐr nd©VmMm àñVa §̂J/ «̂§e hmoD$Z H$moH$U {H$ZmanÅ>r

V¶ma Pmbr.
c) H$moH$U {H$ZmanÅ>rMr X{jUmoÎma bm§~r 700 {H$.‘r. nojm OmñV Amho.
d) H$moH$UMo ^m¡Jmo{bH$ joÌ’$i 30000 Mm¡.{H$.‘r. nojm OmñV Amho.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (a) Am{U (b) ’$º$ 3) (a), (b) Am{U (c) 4) darb gd©

13) Consider the following statements :

a) Konkan is a long stretch of lowland that lies between the Sahyadri mountain and the Arabian

Sea.

b) The Konkan coast was formed by the fault of Sahyadri mountain in the West of Maharashtra

and adjacent to the Arabian Sea.

c) The South-north length of Konkan coastline is more than 700 kms.

d) The geographical area of Konkan is more than 30000 km2.

Which of the statement/s given above is/are correct ?

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) All of the above

14) Imbrbn¡H$s ‘hmamï´>mÀ¶m H$moUË¶m {OëømV Jm{dbJS> Q>oH$S>çm§Mo ñWmZ Amho?
a) R>mUo b) A‘amdVr c) H$moëhmnya$ d) ~rS>
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) (a) Am{U (b) 3) (c) Am{U (d) 4) ’$º$ (b)

14) Gavilgad hills are located in which of the following district/s of Maharashtra ?

a) Thane b) Amaravati c) Kolhapur d) Beed

Answer options :

1) Only (d) 2) (a) and (b) 3) (c) and (d) 4) Only (b)
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15) gømÐrÀ¶m nyd©oH$S>rb CVmamMm ^mJ H$moUË¶m ZmdmZo AmoiIbm OmVmo?
1) KmQ>‘mWm 2) H$moH$U 3) ‘mdi 4) ‘amR>dmS>m

15) By which name is the part of the eastern slope of Sahyadri known as ?

1) Ghatmatha 2) Konkan 3) Maval 4) Marathwada

9) dZo Am{U dZñnVr, n[apñW{VH$s, n`m©daU
1) ^maVmV gm‘m{OH$ dZrH$aU H$m ©̀H«$‘ ............ ‘Ü ò gwê$ Pmbm.

1) 1950 2) 1960 3) 1965 4) 1970
1) InIndia, Social Forestry Programme began in .............

1) 1950 2) 1960 3) 1965 4) 1970

2) M°pån¶Z Am{U goR> ¶m§À¶m dJuH$aUmZwgma ‘hmamï´> amÁ¶mV O§JbmMo {H$Vr à‘wI àH$ma AmhoV?
1) 6 2) 5 3) 4 4) 3

2) As per the Champion and Seth’s classification, how many major types are present in Maharashtra?

1) 6 2) 5 3) 4 4) 3

3) ‘hmamï´>mVrc dZm§Mo àH$ma d Ë¶m àXoemVrc dm{f©H$ nO©Ý¶‘mZ ¶m§À¶m ¶mo½¶ OmoS>çm cmdm.
                dZm§Mo àH$ma     dm{f©H$ nO©Ý¶‘mZ
A) CîUH$Q>r~§Yr¶ gXmharV dZo I) 200 Vo 250 go. ‘r.
~) CîUH$Q>r~§Yr¶ {Z‘gXmharV dZo II) 350 Vo 400 go.‘r.
H$) CîUH$Q>r~§Yr¶ AmÐ© nmZPS>r dZo III) 250 Vo 300 go.‘r.
S>) Cn  CîUH$Q>r~§Yr¶ gXmharV dZo IV) 125 Vo 200 go.‘r.
n¶m©¶r CÎmao :

A ~ H$ S>
1) III I IV II

2) III I II IV

3) II I III IV

4) IV III I II

3) Match the correct pairs of types of Forest and Annual rainfall of that region in Maharashtra.

        Types of Forest     Annual Rainfall

A) Tropical evergreen forest I) 200 to 250 cms

B) Tropical semi-evergreen forest II) 350 to 400 cms

C) Tropical wet deciduous forest III) 250 to 300 cms

D) Sub-Tropical evergreen forest IV) 125 to 200 cms

Answer Options :

A B C D

1) III I IV II

2) III I II IV

3) II I III IV

4) IV III I II
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4) 2016-17 À¶m AmH$S>odmarZwgma ‘hmamï´>mVrc Am{Xdmgr {OëømVrc A{VKZXmQ> dZmÀN>mXZmMo à‘mUmZwgma {Oëøm§Mm
CVaVm H«$‘ AmoiIm.
1) JS>{Mamocr, Jm|{X¶m, Zm§XoS>, M§Ðnya 2) M§Ðnya, Zm§XoS>, Jm|{X¶m, JS>{Mamocr
3) Jm|{X¶m, Zm§XoS>, M§Ðnya, JS>{Mamocr 4) JS>{Mamocr, M§Ðnya, Jm|{X¶m, Zm§XoS

4) According to 2016-17 data, arrange the Tribal districts of Maharashtra in descending order in

terms of area under very dense forest cover.

1) Gadchiroli, Gondia, Nanded, Chandrapur 2) Chandrapur, Nanded, Gondia, Gadchiroli

3) Gondia, Nanded, Chandrapur, Gadchiroli 4) Gadchiroli, Chandrapur, Gondia, Nanded

5) ^m¡Jmo{bH$ joÌ’$imÀ¶mÑï>rZo ^maVmVrb OrdmdaU Ama{jV ñWio MT>Ë¶m H«$‘mZo bmdm.
1) {Zb{Jar, Z§XmXodr, gw§Xa~Z, ‘mZmaMo AmImV
2) Z§XmXodr, {Zb{Jar, g§wXa~Z, ‘mZmaMo AmImV
3) ‘mZmaMo AmImV, Z§XmXodr, {Zb{Jar, gw§Xa~Z
4) gw§Xa~Z, {Zb{Jar, Z§XmXodr, ‘mZmaMo AmImV

5) Arrange the biosphere reserve sites in India in ascending order according to geographical area.

1) Nilgiri, Nanda Devi, Sunderban, Gulf of Mannar

2) Nanda Devi, Nilgiri, Sunderban, Gulf of Mannar

3) Gulf of Mannar, Nanda Devi, Nilgiri, Sunderban

4) Sunderban, Nilgiri, Nanda Devi, Gulf of Mannar

6) 1972 Mm dÝ¶Ord g§ajU H$m¶Xm g§nyU© XoemV bmJy H$aÊ¶mV Ambm nU Imbrbn¡H$s H$moUË¶m amÁ¶mZo Vmo ñdrH$mabm
ZìhVm?
1) Ho$ai 2) ‘hmamï´> 3) Oå‘y-H$mí‘ra 4) ‘Ü¶ àXoe

6) The Wildlife Protection Act of 1972 was implemented throughout the country but which of the

following States did not accept it ?

1) Kerala 2) Maharashtra 3) Jammu-Kashmir 4) Madhya Pradesh

7) X{jUr CîUH${Q>~§Yr` AmÐ© gXmh[aV O§Jbo ............ ‘Ü ò AmT>iVmV.
a) ‘hmamï´> (b) H$Zm©Q>H$ c) Ho$ai d) A§X‘mZ
n¶m©¶r CÎmao :
1) (a), (b) Am{U (c) 2)(a), (b), (c)  Am{U (d) 3) ’$º$ (c) 4) ’$º$  (d))

7) Southern Tropical Wet Evergreen forests are found in .............

a) Maharashtra b) Karnataka c) Kerala d) Andamans

Answer options :

1) (a), (b) and (c) 2) (a), (b), (c) and (d) 3) Only (c) 4) Only (d)

8)  ^maVmVrb à‘wI bmHy$S>-CËnmXH$ dZñnVt‘Ü ò ho g‘m{dï> Amho:
1) AH«$moS> 2) XodXma 3) nm§T>am {dbmo 4) darb gd©

8) The principal timber-yielding plants of India include :

1) Walnut 2) Deodar 3) White willow 4) All of the above
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9) ............... d¥j, Á`mbm gm‘mÝ`V… ̂ maVr` Am~Zyg Agohr åhUVmV, Á`mMr nmZo ̂ maVmVrb nma§nm[aH$ {gJmaoQ> ~rS>r
({~S>r) V`ma H$aÊ`mgmR>r dmnabr OmVmV.
1) AOw©Z  2) V|Xy 3) ~m~wb 4) I¡a

9) ............... tree, commonly also called Indian ebony, the leaves of which are used in the manufacture

of beedis (bidis), the traditional cigarette of India.

1) Arjuna 2) Tendu 3) Babul 4) Khair

10) Dipterocarpus, Kayea  Am{U Mesua  àOmVr ho................ dZ àH$mamMo KQ>H$ AmhoV.
1) CîUH${Q>~§Yr` Amobo gXmh[aV 2) AmÐ© nU©nmVr
3) AënmBZ ñH«$~ 4) H$mQ>m

10) The Dipterocarpus, Kayea and Mesua species are the components of ................ forest type.

1) Tropical Wet Evergreen 2) Moist Deciduous

3) Alpine Scrub 4) Thorn

11) H$moaS>çm AënmBZ ñH«$~ ’$m°aoñQ>‘Ü ò ............... g‘m{dï> Amho.
1) ~Qy> PwSy>nm§gh {Pamo’$mB{Q>H$ {Z{‘©Vr 2) ~Qy> PwSy>nm§gh ‘ogmo{’${Q>H$ § {Z{‘©Vr
3) C§M PwSy>nm§gh {Pamo{’${Q>H$ {Z{‘©Vr 4) C§M PwSy>nm§gh ‘ogmo{’${Q>H$ {Z{‘©Vr

11) Dry Alpine Scrub forest consists of ...............

1) xerophytic formation with dwarf shrubs 2) mesophytic¢ formation with dwarf shrubs

3) xerophytic formation with tall shrubs 4) mesophytic formation with tall shrubs

12) ImOU dZm§À¶m ~m~VrV Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV?
a) hr dZo ^aVr-AmohmoQ>rÀ¶m nmÊ¶mÀ¶m nmVir Xaå¶mZ AgVmV.
b) ¶m dZm§Vrb PmS>m§Zm 'gw§Xar' Ago åhUVmV.
c) ¶m PmS>m§À¶m gmbtnmgyZ Q>°qZJ {‘iVo.
d) ¶m dZm§Mo g§dY©Z H$aUo JaOoMo Amho.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) ’$º$ 2) (b), (c) Am{U (d) ’$º$
3) (a), (b) Am{U (d) ’$º$ 4) (a), (b), (c) Am{U (d)

12) In relation to Mangrove forest, which of the following statements are true ?

a) This forest are found in between high tide and low tide levels.

b) The trees in this forest are called ‘Sundari’.

c) Tanning is obtained from the bark of these trees.

d) There is a need of conservation of this forest.

Answer options :

1) Only (a), (b) and (c) 2) Only (b), (c) and (d)

3) Only (a), (b) and (d) 4) (a), (b), (c) and (d)

13) ''n¶m©daU åhUOo gOrdm§À¶m qH$dm Ordg‘yhm§À¶m OrdZ, dmT>, {dH$mg d ‘¥Ë¶yda n[aUm‘ H$aUmar gd© n[apñWVr, {VMr
H$maHo$ d Ë¶m§Mm à^md hmo¶''. n¶m©daUmMr hr ì¶m»¶m H$moUr Ho$cr ?
1) {dœH$moe 2) {~«Q>m{ZH$m {dœH$moe 3) E. gr. Q>mÝgco 4) O°H$s pñ‘W
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13) “Environment means the sum total of all conditions agencies and influences which affect the

development,  growth, life and death of an organism, species or race”, Who created this definition

of environment ?

1) Universal Encyclopedia 2) Britanica Encyclopedia

3) A. C. Tansley 4) Jackie Smith

14) ¶mo½¶ OmoS>çm Owidm.
{Oëhm A^¶maÊ¶o

A) R>mUo i) gmJaoída
~) gm§Jbr ii) Vw§Jmaoída
H$) JS>{Mamobr iii) ZaZmim
S>) AH$mobm iv) Mnamim
n¶m©¶r CÎmao …
1) A - i, ~ - ii, H$ - iii, S> - iv 2) A - iii, ~ - ii, H$ - i, S> - iv
3) A - ii, ~ - i, H$ - iv, S> - iii 4) A - i, ~ - iv, H$ - ii, S> - iii

14) Match the correct pairs.

Districts Sanctuaries

A) Thane i) Sagareshwar

B) Sangli ii) Tungareshwar

C) Gadchiroli iii) Narnala

D) Akola iv) Chaparala

Answer options :

1) A—i, B—ii, C—iii, D—iv 2) A—iii, B—ii, C—i, D—iv

3) A—ii, B—i, C—iv, D—iii 4) A—i, B—iv, C—ii, D—ii

15)  amï´>r` CÚmZo Ë`m§À`m amÁ`mer Owidm :
a) ~m§YdJS> amï´>r` CÚmZ i)  CÎma àXoe
b) XMrJ‘ amï´>r` CÚmZ ii)  n{í²M‘ ~§Jmb
c) XwYdm amï´>r` CÚmZ iii)  ‘Ü` àXoe
d) gw§Xa~Z amï´>r` CÚmZ iv)  Oå‘y Am{U H$mûm‘ra
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (iv) (i) (ii)

3) (i) (ii) (iv) (iii)

4) (iv) (iii) (i) (ii)

15) Match the National Parks with their State :

a) Bandhavgarh National Park i) Uttar Pradesh

b) Dachigam National Park ii) West Bengal

c) Dudhwa National Park iii) Madhya Pradesh

d) Sundarban National Park iv) Jammu and Kashmir
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Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (iv) (i) (ii)

3) (i) (ii) (iv) (iii)

4) (iv) (iii) (i) (ii)

16) ^maVmVrb n¶m©daU g§ajU H$m¶Xm ^maVmÀ¶m amOnÌmV H$moUË¶m dfu àH$m{eV H$aÊ¶mV Ambm?
1) ‘mM© 1986 2) ‘o 1972 3) ‘o 1986 4) Zmoìh|~a 1986

16) In which year was the Environment Protection Act of India published in the Gazette of India ?

1) March 1986 2). May 1972 3) May 1986 4) November 1986

17) OmJ{VH$ Amamo½¶ g§KQ>ZoZo (WHO) Zo Imbrbn¡H$s H$moUVr n¶m©daU Amamo½¶ g§KQ>Zm {dH${gV Ho$br Amho?
a) g§¶wº$ amï´>m§Mr AÞ Am{U H¥$fr g§KQ>Zm (FAO) b) n¶m©daU Am{U dZ ‘§Ìmb¶ (MOEF)

c) Amamo½¶ n¶m©daU qbH$ B{Z{eE{Q>ìh (HELI) d) OmJ{VH$ {ZgJ© g§dY©Z g§KQ>Zm (IUCN)

n¶m©¶r CÎmao …
1) ’$º$ (b) 2) (a) Am{U (b) 3) ’$º$ (c) 4) darb gd© ~amo~a

17) Which of the following environmental health organizations has been developed by the World

Health Organization (WHO) ?

a) Food and Agriculture Organization of the United Nations (FAO)

b) The Ministry Of Environment and Forest (MOEF)

c) Health Environment Link Initiative (HELD

d) International Union for Conservation of Nature (IUCN)

Answer options :

1) Only (b) 2) (a) and (b) 3) Only (c) 4) all are correct

18) 2016 ‘Ü¶o {g¸$s‘ ho amÁ¶ ̂ maVmVrb n{hbo 100% g|{Ð¶ amÁ¶ åhUyZ Kmo{fV H$aÊ¶mV Ambo. Ë¶mZwgma EHy$U {H$Vr
joÌ g|{Ð¶ eoVr åhUyZ à‘m{UV H$aÊ¶mV Ambo?
1) 1,80,000 EH$a 2) 1,70,000 EH$a 3) 1,50,000 EH$a 4) 1,90,000 EH$a

18) In 2016 the State of Sikkim declared as the first 100% organic State in India. How much land.is

certified as organic farm ?

1) 1,80,000 acres 2) 1,70,000 acres 3) 1,50,000 acres 4) 1,90,000 acres

19) Imbrb {dYmZo nhm …
a) MoZm}{~b AUweº$s AnKmV 26 E{àb 1986 amoOr Pmbm.
b) ñdrS>Z‘Yrc emókm§Zm 1986 ‘Ü¶o AmOy~mOyÀ`m n¶m©daUmV {H$aUm§Mo CËgO©Z (Radiation) Pmbobo g‘Obo.
c) MoZm}{~c àH$ënmV J«°’$mBQ>Mm Cn¶moJ AUŵ Å>r (Reactor) W§S> H$aÊ¶mgmR>r Ho$bm OmV hmoVm.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ (a) ~amo~a Amho. 2) {dYmZ (a) Am{U (b) ~amo~a AmhoV.
3) {dYmZ (a) Am{U (c) ~amo~a AmhoV. 4) {dYmZ (a), (b) Am{U (c) ~amo~a AmhoV.
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19) Observe the following statements :

a) Chernobyl nuclear power accident occured on 26 April 1986.

b) The Scientists from Sweden noticed increasing radiation in the surrounding environment in1986.

c) Graphite was used to cool reactors in Chernobyl plant.

Answer options :

1) Only Statement (a) is correct 2) |Statement (a) and (b) are correct

3) |Statement (a) and (c) are correct 4) Statement (a), (b) and (c) are correct

20) ‘hmamï´>mV gdm©V OmñV dZjoÌ Imbrbn¡H$s H$moUË¶m dZm§Zr ì¶mnbobo Amho?
a) nmZJi dZo b) é§XnUu dZo c) XbXbrMr dZo d) H$mQ>oar dZo
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (d) 3) (a), (b) Am{U (d) 4) darb gd©

20) Which of the following forests occupies the largest area in Maharashtra ?

a) Deciduous Forests b) Broadleaf Forests c) Swamp Forests d) Thorn Forests

Answer options :

1) Only (a) 2) Only (d) 3) (a), (b) and (d) 4) All above

21) ...... d¥jmMo bmHy$S> AË¶§V ‘D$ Agë¶mZo H$mS>rnoQ>rVrb H$mS>çm ~ZdÊ¶mgmR>r Ë¶mMm Cn¶moJ H$aVmV?
1) V|Xÿ 2) gmJdmZ 3) nmB©Z 4) emë‘br

21) The wood of ...... tree is very soft so it is used to make the sticks of the match box.

1) Tendu 2) Teak 3) Pine 4) Shalmali

22) ¶mo½¶ OmoS>çm bmdm.
a) VmS>mo~m amï´>r¶ CÚmZ i) M§Ðnya
b) n§{S>V Odmhabmb Zohê$ amï´>r¶ CÚmZ ii) n|M-ZmJnya
c) JwJm‘mi amï´>r¶ CÚmZ iii) A‘amdVr
d) ZdoJmd amï´>r¶ CÚmZ iv) Jm|{X¶m
n¶m©¶r CÎmao …
1) (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv) 2) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)

3) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) 4) (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)

22) Match the correct pairs :

a) Tadoba National Park i) Chandrapur

b) Pandit Jawaharlal Nehru National Park ii) Pench-Nagpur

c) Gugamal National Park ii) Amravati

d) Navegoan National Park iv) Gondia

Answer options :

1) (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv) 2) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)

3) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv) 4) (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
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CÎmao

(2) ^maVmMm ŷJmoc (‘hmamḯ>mÀ¶m ŷJmocmÀ¶m Aä¶mgmgh)

6) nO©Ý¶‘mZ - ‘hmnya, XþîH$mi, qgMZ ì¶dñWm

1-3 2-2 3-2 4-3 5-2 6-1 7-2 8-2 9-2 10-1
11-3 12-3 13-2 14-4

7) ZÚm, gamodao YaUo, ObqgMZ Am{U àH$ën

1-2 2-4 3-3 4-4 5-2 6-1 7-4 8-1 9-3 10-1
11-4 12-1 13-1 14-2 15-4 16-2 17-4 18-3 19-3 20-3
21-1 22-1 23-4 24-4 25-1 26-2 27-2 28-3 29-3 30-2
31-3 32-1 33-4 34-4 35-4 36-3 37-1 38-4 39-4 40-3
41-1 42-1 43-4 44-3 45-1 46-4 47-3 48-1 49-4 50-3
51-4 52-1 53-3 54-4 55-3 56-1 57-4 58-4

8) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o

1-1 2-2 3-4 4-4 5-4 6-2 7-3 8-3 9-1 10-4
11-2 12-3 13-4 14-4 15-3

9) dZo Am{U dZñnVr, n[apñW{VH$s, n`m©daU

1-1 2-1 3-1 4-4 5-1 6-3 7-2 8-4 9-2 10-1
11-1 12-4 13-1 14-3 15-2 16-3 17-3 18-4 19-4 20-1
21-4 22-3


